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B REM SEFELALERT
—~[#x#] EFR% : 105

Direction: Choose the most appropriate meaning of the underlined English word.

1. lsawit. A. %8 B. 4% C. &4 D. B
2. Please use the microphone. A. T3 B. #4& C #A#4 D £1A
3. Heis a soldier. A. A B +E C. 8Kk D. %A
4, Make a circle. A. % B %4 C. BHE D. A

5. Our dog often digs. A. fkik B. ¥R C. % D. =k

6. It has been restored. A. # B E¥HoamC AR D. 4418
7. He strangled her. A. #3%E B. 5% C. 8 D. H £
8. The boy shuddered. A. #3 B R C osheh BE D B
9. He was holding a jug. A. #F B. &%&F C. £18 D. #&

10. Press the button. A. 3% B. #7 C. # D.

= [#x#] BF&EH 105

Direction: Choose the best answer to make the passage complete and coherent.

-

There is an international debate __11__. One issue that is currently being debated concerns
genetically modified foods (# B 2tit & 4). One of the issues concerning genetically modified
foods is __12__. However, developing countries have the highest rate of starvation. Companies in
rich countries are patenting (# % #]) these technologies. This means that the poorer nations will
either have to buy its food from the rich countries or buy the patents to __13_ . Both of these
options are too expensive for many poor countries.

Since many poor countries will be unable to afford ( & #% 45 #2) these foods and technologies,
__14__. However, the companies that have developed these technologies argue __15__. The
promise that genetically modified crops can help to address the world's rate of starvation (#L#)
becomes questionable, especially as the population of the world increases.

A. that they have a right to the ownership of such methods and products

B. that the technologies that produce such foods are owned and used by rich nations

C. the genetic technologies from the corporations in order to feed their own people

D. concerning how to increase the production of food in order to feed people
throughout the world who are starving

E. the rate of starvation throughout the world will not decrease, but it will increase
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Z. [#x#] Bk : 2256

Read the passages and choose the most appropriate answer to each question.

Do our teeth become cleaner and cleaner the longer and harder we brush them?

British researchers say no. They have actually tried out many different alternatives, and ended
up with the perfect way to brush your teeth. A two minute brush, without brushing too hard, gives
the best result. If you brush hard, you harm your tooth enamel and your gums without loosening
food remnants or plaque. '

Bente Hansen, an expert on tooth brushing, says that it is a good idea to hold the toothbrush
the way you hold a pen. “Start in one corner and brush your way along the whole row,” she says.
“Don’t forget your tongue either! It can actually contain loads of bacteria that may cause bad
breath. ”

16. What is this article about?
A. The best way to brush your teeth.
B. The best kind of toothbrush to use.
C. The importance of good teeth.
D. The way different people brush their teeth.
17. What do the British researchers recommend?
A. That you brush your teeth as often as possible.
B. That you do not try to brush your tongue.
C. That you do not brush your teeth too hard.
D. That you brush your tongue more often than your teeth.
18. Why is a pen mentioned in the text?
A To show that you can brush your teeth in many different ways.
B Because you start in one corner with both a pen and a toothbrush.
C To help you understand how to hold a toothbrush.
D Because you should take tooth brushing as seriously as writing.

Without any doubt, if there had been elections (& #t) for the animal of the year 1997, Dolly
would have been the winner! Dolly is a Scottish sheep. But Dolly is not just a simple sheep. She is a
clone of another sheep. A clone means: a copy. Cloning means copying ‘from a single master copy’,
Scientists succeeded in creating a sheep (Dolly) that is identical (—#%) to a sheep that functioned
as a ‘master copy’. ‘

It was the Scottish scientist lan Wilmut who designed the ‘copying machine’ for sheep. He
took a very small piece from the udder ($L% ) of an adult sheep (sheep 1). From that a very small
piece he removed the nucleus (4aff4%), then he transferred the nucleus into the egg-cell of
another (female) sheep (sheep 2). But first he removed from that egg-cell all the material that
would have determined sheep 2 characteristics (4%5#¢) in a lamb produced from that egg-cell. lan
Wilmut implanted (##4) the manipulated egg cell of sheep 2 into yet another (female) sheep
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(sheep 3). Sheep 3 became pregnant and had a lamb: Dolly.
Some scientists think that within a few years it will be possible to clone people as well. But
many governments have already decided to forbid cloning of people by law. |

19. Which sheep is Dolly identical to?

A.Sheepl B.Sheep2  C.Sheep3 D. Dolly’s father
20. In the second paragraph, what does “a very small piece” mean?
A. a cell. -B. a gene. C.acell nucleus. D.achromosome.

21, In the last sentence of the article it is stated that many governments have already decided to
forbid cloning of people by law. What is a scientific reason for this decision?
A. Cloned people could be more sensitive to certain diseases than normal people.
B. People should not take over the role of a Creator.
C. Cloning of people can only be done by their parents.
D. None of the above. '

immortal. European alchemists ($k4#7&7) spent centuries searching for the "Philosopher's
Stone", a magical substance (4% ) that could turn iron into gold and give humans the power to
live forever. Juan Ponce de Leon, the first European to travel to Florida, was there because he was |
searching for the mythical (3¥i4#4) "Fountain of Youth". A drink from this spring was rumored |
(3£1%) to keep a person permanently young. Currently, researchers are still looking for ways to
help us live forever, only now they are using science instead of magic.

The main causes of death are disease, simple aging and of course accidents. So, in order to |
allow people to live longer, each of these areas has to be considered’. Of the three, disease is
probably the easiest to deal with. Over the past twenty years, medical skill and treatment of
disease have improved enormously. As a result, people in countries with good healthcare systems
are already living much longer than they did in the past.

The second area to consider is aging. This can now also be dealt with through new l
technological approaches. Genetic engineering can deal with birth defects (#:r4) and produce '
stronger, healthier people. And, it is hoped that in the near future, nanotechnology-the technology |
of creating tiny, tiny devices-will provide methods of keeping the body from aging by enabling it to
"service" itself. One of the possibilities for nanotechnology is that it would enable us to have
millions of tiny robots "swimming" around in our blood that would kill dangerous cells and repair
broken ones automatically.

The third most common cause of death is accidents, and they are of course the most difficult
to deal with. If you get hit by a bus or shot in the head, then you will probably be dead and that is
the end of the story. However, in less serious cases, even here nanotechnology offers some hope.
Scientists have discussed the possibility of using nanotech to alter (2L # ) the structure of human
bones, making them many times stronger than now. This would mean that even if you were ina
car accident or you fell from a building, your bones wouldn't break and you could walk away
unhurt.

I
For the whole of human history, people have been searching for the secret of becoming !
i
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22. The word "immortal" in the first paragraph probably means

A. dying B. magical C. living forever  D. permanently young
23. Which of the following is not mentioned by the author as a main cause of death?
A. lliness. B. Aging. C. Accidents. D. Suicide.

24. The purpose of this article is
A. to persuade readers to become immortal
B. to tell readers about ways to live longer
,C. to compare three ways of dying
D. to offer thanks to Juan Ponce de Leon
25. Which of the following is NOT true about nanotechnology?
A. It creates very, very small things.
B. It can swim around in our blood.
C. It may make human bones stronger.
D. It may help humans to stay young.
26. Why does the author mention the Philosopher's Stone at the beginning of the article?
A. It is the main idea of the passage.
B. Because it can turn iron into gold.
C. Because it serves as an example.
D. It makes a funny introduction.
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Direction: Read the Aesop’s fable ( % & ) and answer the questions in English.

A miser sold all that he had and bought a lump of gold, which he buried in a hole in the
ground by the side of an old wall. He went to look at it daily. One of his workmen observed the
miser’s frequent visits to the spot and decided to watch his movements. The workman soon
discovered the secret of the hidden treasure, and digging down, came to the lump of gold, and
stole it. The miser, on his next visit, found the hole empty and began to tear his hair and to make
loud lamentations. A neighbor, seeing him overcome with grief and learning the cause, said, "Pray
do not grieve so; but go and take a stone, and place it in the hole, and fancy that the gold is still
lying there. It will do you quite the same service; for when the gold was there, you had it not, as
you did not make the slightest use of it."

27. What lesson(s) do you learn from this Aesop’s fable? (3%)
28. Do you agree with the neighbor’s suggestion and argument? Give you reasons. (5%)

N BB HEFLY 3% FRERARAXALEE L BHEBGETA -

THFIXGHEEEPEBHARFHAMMRYE » LA AR TF  FROBY X > K85 F
PHEFARE - (HI88: REBRA-Th,—>"38))

EPEMORER2 B e REATAELZEREHROREEHRELILBRHLFT

HHIRANGBHaBERBLEZE R 820 BN BEH S TFRIBFEENASEARAR
EPEARSHBRCOHERBEEREC) I oF--REFE 2 AMEBATHERBE NN
HyF o BRBRBE2LARER A - THOLAERBERE 43 A BRI 2ULRH--
EFERBRYE BN FAER TRl 4, RETOMEA - SRARITHHGE
s s BEEEC TR -

6

(B4 TR)



t-BER 245 P ELARAXALZELE LAY RASETAH -
OFMRAIRVENXF  DETHHRMAME - (BHEL 5 2%)

FEAFTEARS > NAELRZ  RESE BB B - HPEE BiTE% - TBE
REER AR KR THBAREK B RF KELNEF FUBERIT-BE >
Rz fagFeE  Rekba > E#Z]-

LEXPH—OARNIBERABEMBELYHGFR? CGFRRXMEL)
2 R[JRAEHER  FA—ERAEAEIBESSHEHRBER -

AXERR 27 FELRAXHAZTES LAHEXEA -

OMBEKNGXF#H » BETHHERA :

(=) BHBEERARAESHERELZ? (9 &)

(=) AL RAETREAFEHBRE I SREGABXLERAZ - (18 4)
*EE CHEBEEREA () (=) 8 (—) (=) 43 x&k# 250-300 F -

BAEARLIR=ZNAORLERX  NEE > ERARENEA L AACET A
BE -BEX HHERIMELE  AMEERE HARR—HE —RARAERXEFRTE
Mg o

RILIEZBRAERE A E S TIE  RELREH—AERT TR AA M ERIAA
ERx ERARAR TR FAALERIATEI——BRATIeAM KR, —EBAM?
WIEETRMEL  AHE R ARTEBKNE -

REBTIHE  LEBRMGEKR - F—HSH BRERFRRK, RESRSHHEG
RTFRTR LBELNEORE - RTFLERAE FYRATEIHE - RE—HILEH
PIRT " R T Y — BRI 8 - BEEIN > AT bR AT TR T -

RETFETKRAMBRAT R THEHE -RTHERIE - R THERIHHL TR
WH LR TIOFFERRATE R - BEFRAR FLEARRAEHERET  Af
BRETHAFSRANSGE HIREZERTEFRAMREFR -

BEAFBFERHE > —HISRBERAE - AR EGTBHEREN LR - RF
BURE—ALTBR P HROBEARA - AALGRBEEEYLET  AONEA TR
¥, REFE—E%8d  EXARBRBE -2 H—OF - FEKXLHAREY "R,
LEEREBARARES "Rl BFELEXEHEDY "R, HEERRS -

FRARGERGRNE - ARRARBEEIHOAE - AREREEFOLRE - HEAMR
RBFHRE - F R ARBRATRRARE - ARAEE SRS BRRAC  MAHKE -
BHEBITREARRB T ARLEAEGTRNE -

H—ARE BB NIHENEL BAETE—EBRAETRAEKSL - — A
PELRAEXKEXRELEENEBEAY S RAETRRBT SRNIESE  RIMHARTHE &
HFERBENRSNHERBARMEBY - RERY -

HBE—EEe TR N AR FF  BHLES T, REIEX -F&EFS -8
BEBLEFHERY TR KRERBI ARG BT B/BGEE—ERE T REH
B~ AR REBACHHE FHRESE B2 > EnEd - (B8R (HIAESHE))

7
(BBA&ER)




